Potencias de 10 (F)

82-+0.01

89 +0.01

79+0.01

5+0.01

94 = 0.01

2-+0.01

42 +-0.01

28 +0.01

91-+0.01

74 +0.01

Calcule los siguientes cocientes.

36 -0.01

52+0.01

11-+-0.01

51+0.01

74 +-0.01

74 +-0.01

80-+0.01

86 +0.01

16 +0.01

92+0.01
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Potencias de 10 (F) Respuestas

82+0.01
8,200
89+0.01
8,900
79 +0.01
7,900
5-0.01
500
94 +0.01
9,400
2-+0.01
200
42 +0.01
4,200
28 +0.01
2,800
91-+0.01
9,100
74 +0.01
7,400

Calcule los siguientes cocientes.

36-=0.01
3,600
52-+0.01
5,200
11+0.01
1,100
51-+0.01
5,100
74 +0.01
7,400
74 +-0.01
7,400
80+0.01
8,000
86 +0.01
8,600
16+-0.01
1,600
92 +-0.01
9,200
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